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Question id : 4503 Question Type: MCQ

What characteristics would characterize an ideal operational amplifier?

Options:

1. An infinite voltage gain, zero input resistance and zero cutput resistance

2. An infinite voltage gain, zero input resistance and an infinite cutput resistance.

2. An infinite voltage gain, an infinite input resistance and an infinite output resistance.
4. An infinite voltage gain, an infinite input resistance and zero output resistance.

Question id : 4504 Question Type: MCQ

The dc current through each diode in a bridge rectifier equals:

Options:

1. the load current

2. half the load current

2. twice the dc load current

4. one-fourth the de load current

Question id : 4505 Question Type: MCQ

YVoltage-divider Dias provides:

Options:

1. an unstable O point
2. a stable O point
3.8 Q point that easily varies with changes in the transistor's current gain

4 a O point that 15 stable and easily varies with chianges in the transistors
current gain

Question id : 4506 Question Type: MCQ (Correct + 2.0, Wrong - 0.0)



For an OP-amp with negative feedback, the output is

Options:

1. equal to inpuat

2. increased

2. feedback to the inverting input

4. feedback to the non-inverting input

Question id : 4507 Question Type: MCQ

In an amplitude modulation, bandwidth is ... ... .. the audio signal frequency

Options:

1. thrice
2. twice
2. four times
4. Fiwe tirmes

Question id : 4508 Question Type: MCQ

Wwhich type of special purpose diode has the characteristic voltage controlled capacitor?

Options:

1. & tunnel diode
2. & Schottky diode
3. & zener diode
4. & Saractor diode

Question id : 4509 Question Type: MCQ

Collector -feedbaclk bias is -

Options:

1. Based on the principle of positive feedback
2. Based on beta rmmltiplication

2. Based on the principle of negative feedback
4 Mot very stable

Question id : 4510 Question Type: MCQ

The resistance of a photo-resistive cell-

Options:

1. Increase with increase in light intensity

2. Femgains constant irrespective of the light intensity incident upon it
2. Decrease with increase in light intensity in a linear manner

4 Decrease with increase in light intensity in an exponential manner

Question id : 4511 Question Type: MCQ

& diode that has a negative resistance characteristic is the-

Options:

1. Schottly diode

2. Tunnel diode
2. Laser diode
4. Hot-carrier cathode

Question id : 4512 Question Type: MCQ

The time base of a CRO is developed by -




Options:

1. Sawtooth waweform
2. Square waveform

2. Triangular waveform
4. Sinusoidal wawveform

Question id : 4513 Question Type: MCQ

& silicon diode is in series with a 1.0 ki resistor and a 5V battery. If the anode is connected to the positive
battery terrminal, the cathiodes woltage with respect to the negative battery termunal 1s-

Options:

1. 07V
2. 03V
35T
4. 43V

Question id : 4514 Question Type: MCQ

The internal resistance of a photodiode-

Options:

1. Increases with light intensity when reverse-biased
2. Decreases with light intensity when reverse-biased
2. Increases with light intensity when forward-biased
4. Decreases with light intensity when forward-biased

Question id : 4515 Question Type: MCQ

A JFET always operates with-

Options:

1. The gate-to-source pr junction reverse-hiased
2. The gate-to-source pn junction forward-biased
= The grain connected to ground

4. The gate connected to the source

Question id : 4516 Question Type: MCQ

An n-channel D-MOSFET with a positive V.. i5 operating in-

Options:

1. The depletion mode

2. The enhancerment mode
2. Cut off

4. Saturation

Question id : 4517 Question Type: MCQ

Cne condition for oscillation is-

Options:

1. & phase shift around the feedback loop of 1800

2. & gain around the feedback loop of one third
2. A& phase shift around the feedback loop of 900
4. & gain around the feedback loop of less than 1

Question id : 4518 Question Type: MCQ

The Wein-bridge oscillator's positive feedback circuit is-




Options:

1. &1 EL circuit
2. A1 L circuit
> A woltage divider
4. & lead-lag circuit

Question id : 4519 Question Type: MCQ

For Hartley self start gain-

Options:

1.4y > LyJLy
2 4, LyiL,
3. A, > Lyl

2
4. 4> L, Ly

Question id : 4520 Question Type: MCQ

Colpitts, Clapp and Hartley are narmes that refers to-

Options:

1. Types of RC oscillators

2. Inventers of the transistors
2. Types of L oscillators

4. Types of filters

Question id : 4521 Question Type: MCQ

Digital circuit can be made by repetitive use of-

Options:

1. MOT gates
2. OR gates

3. AND gates
4 NAND gates

Question id : 4522 Question Type: MCQ

& differential amplifier—

Options:

1. Is part oc f an op-amp

2. has one input and one cutput

2. has two cutputs

4 both ' Part oc f an op-amp and  two outputs'

Question id : 4523 Question Type: MCQ

A& certain op-amp has bias currents of S0p4 and 49 3pd . The input offset current is-

Options:

1. 700 n&
2 993 pi
2. 49.7 pi
4. 50014

Question id : 4524 Question Type: MCQ

In a scaling adder, the input resistor are-




Options:

1. &ll the sarme value

2. All of different values

2. Each proportional to the weight of its input
4. Related by a factor of two

Question id : 4525 Question Type: MCQ

A Zener diode works on the principle of-

Options:

1. Tunneling of charge carriers across the junction
2. Thermo-ionic ernission

2. Diffusion of chiarge carriers across the junction
4 Hopping of charge carriers across the junction

Question id : 4526 Question Type: MCQ

Infra-red LED is usually fabricated from-

Options:

1. Ge

2. 5i

2 Ga As
4 Ga AsSF

Question id : 4527 Question Type: MCQ

An n-channel JFET has a pinch off voltage of ﬁfp: -5V, Vpelmax)= 20V and g, = 2 m&/JV. The minirmum ‘ON'
resistance is achieved in the JFET for-

Options:

1. Vog= -7V and Vo= OV
2. Vo= OV and Vo= OV

3. Vo= OV and Vg = 207
4. Vo= -7V and Vpe = 20V

Question id : 4528 Question Type: MCQ

& dynamic EAM call which hold 5V has to be refreshed every 20 msec, so that stored woltage does not fall
below 0.5V, If the call has a constant discharge current of 0.1 p4, the storage capacitance of the call is-

Options:

1.4%107°F
> 4% 1077 F
3 4% 107 °F
4 4% 1071°F

Question id : 4529 Question Type: MCQ

When a program is being executed in an S085 rMucroprocessor, S prograr counter Contains-

Options:

1. The memory address of the instruction that is to be executed next

2. The number of instruction in the current program that have already been executed
2. The total number of instructions in the program being executed

4. The memory address of the instruction that is being currently executed




Question id : 4530 Question Type: MCQ

In 8085 microprocessor systern with memory mapped 110 -

Options:

1. I/D devices have 5-bit addresses

2. Arithmatic and logic operations can be directly performed with the /O data.
2. 10O devices are accessed using IN and out instructions

4. There can be maximurn of 256 input devices and 256 output devices

Question id : 4531 Question Type: MCQ

The sodium doublet lines are due to transition from °f,,, and °py,, levels to °s,,, level. On application of weak
magnetic field, the total number of allowed transitions becomes:

Options:

1.4
26
=8
4. 10

Question id : 4532 Question Type: MCQ

& photorn 15 emitted when an electron in a hydrogen atom makes a transition fromn==2 to n=1 state. Given
that the ionization potential of the hydrogen is 136 V. The momentum of the photon thus ermitted will be:

Options:

1.453% 10 °m/s

2 16.32 % 10 7 mys
3 16.32 X 10 °myjs
4.544% 10 mjs

Question id : 4533 Question Type: MCQ

In HCl molecule, the energy gap between the vibrational levels is 0.3 V. [ts zero point energy will be

Options:

1.0

2 018eV
Z 036 eV
4. 054 eV

Question id : 4534 Question Type: MCQ

A spectral line of wavelength 600 nim has & width of 5 X 107 nm |, the minimum time spent by the atomic
Systern in the associated energy state is

Options:

1.1.0X107°s
2 50X107°g
3.382K 1003
4 19281005

Question id : 4535 Question Type: MCQ

The spectral line width of the He-MNe laser is 0.01 nm and the cross sectional area of the bearm is 0.01 CI'HE. If

the the output power 15 1w, the radiation intensity per unit wavelength (in W,I'CI'HEII 15




Options:

1.10%°
> 10°

3 1070
4 107

Question id : 4536 Question Type: MCQ

The ratio of Einstein coefficients &4 and E for laser is proportional to

Options:

1.
2w

= va

4. v4

Question id : 4537 Question Type: MCQ

The dependence of Doppler broadened line width of a laser transition on temperature T is given by

Options:

1T
> 7712
3 Tl,n"E

4. T

Question id : 4538 Question Type: MCQ

Rayleigh range Zp of a Gaussian laser bearn is defined as:

Options:
s, TNy
1.
—.
ER T omd
2.
Aw
Zp= =2
=
4. ZR:D

Question id : 4539 Question Type: MCQ

If

- z-"I L 'k
LP' :AE rx EEEI‘;F

is a normalized wawve function, the value of & will bhe-

Options:

1.1
o0

2. (oo
4 )2




Question id : 4540 Question Type: MCQ

In the linear Stark effect, the application of an electric field-

Options:

1. Completely lifts the degeneracy of n=2 level of hydrogen atom and splits n=2 level into four levels
2. Partially lifts the degeneracy of n=2 level of hydrogen atorm and splits n=2 level into three levels
2. Partially lifts the degeneracy of n==2 level of hydrogen atormn and splits n==2 level into two levels

4. Does not affect the n=2 level

Question id : 4541 Question Type: MCQ

The electron in a hydrogen atorm with a radius equal to first Bohr radius has a velocity equal to-

Options:

1.¢)5
Z.2f10
3.cf13Y
4. cf8

Question id : 4542 Question Type: MCQ

The ratio of frequencies of the first line of the Lyman series and the first line of Balmer series is-

Options:

1. 275
2 2718
3. Bl27
4 4127

Question id : 4543 Question Type: MCQ

The Bohr model gives the value for the ionization potential of LiE+ 1011 as-

Options:

1. 126V
22V ZeV
= 408 eV
4. 1224 eV

Question id : 4544 Question Type: MCQ

An SR flip-flop does not accept the input entry wher -

Options:

1. Both inputs zero

2. Both inputs at one

2. Zeroat B oand one at 5
4 ZeroatSand oneat R

Question id : 4545 Question Type: MCQ

which of the interactions cause the non-conservation of orbital angular momentum of the electrons in an
atorm?

Options:

1. Spin-orbit interaction

2. Spin-spin interactior

=. Electrostatic interaction between electrons

4. Electrostatic interaction between electrons and nucleus




Question id : 4546 Question Type: MCQ

In hyperfine interaction, there is coupling between the electron angular
momentum j and nuclear angular momentum I, forming resultant angular

momentum F. The selection rules for the corresponding quantum number F in
hyperfine transitions are-

Options:

, AF = +2 only

, AF = +1 only

Question id : 4547 Question Type: MCQ

The norral Zeerman effect is-

Options:

1. Observed only in atoms with an even number of electrons
2. Observed only in atoms with an odd number of electrons
2. A confirmation of space quantization

4 Mot a confirmation of space quantization

Question id : 4548 Question Type: MCQ

The linear Stark effect is possible in a hydrogen atom but not in a sodium atom because-

Options:

1. The principle quantum number for the ground state of the sodium atorn is different from that of the
hydrogen atorm in the ground state

2. Spin-orbit interaction is stronger in sodiurmn than in hydrogen
2. The electronic energy levels of sodiurm do not exhibit 1-degeneracy
4. The electronic energy levels of hydrogen exhibit 1-degeneracy

Question id : 4549 Question Type: MCQ

Wwhich one of the following staterment concerning the Compton effect is NOT correct?

Options:

1. The wawelerigth of the scattered photorn is greater than or equal to the wavelerigth of the incident photon
2. The electron carn acquire a kinetic energy equal to the energy of the incident photorn

2. The energy of the incident photon equals to the kinetic energy of the electron plus the energy of the
scattered photon

4. The K E. acquired by the electron 15 largest when the incident and scattered phiotons mose in opposite
direction

Question id : 4550 Question Type: MCQ

If S0 kV is the applied potential in an X-ray tube, then the minimum wavelength of ¥-rays produced is-

Options:

1. 0.2 nm




2 2 nm
Z 02 A
4 = A

Question id : 4551 Question Type: MCQ

A& laser bearmn emerging from a laser tube operating at 80 nm has a cross-sectional diameter of 2 mrm. The
diameter of the beam at a distance of 1 Km is approximately given by-

Options:

1. 10 mm
2 Bom
3 Boom
4 101m

Question id : 4552 Question Type: MCQ

The splitting of a spectral line in the presence of an electric field is called-

Options:

1. Stark effect

2. Zeeman effect

=. Paschen-Eack effact
4. Raman effect

Question id : 4553 Question Type: MCQ

The spectrum of a sodium atom can be explained by considering -

Options:

1. J-] coupling
2. Relativistic correction
3. L-5 coupling

4. Hietler-London thF‘.OI“}F

Question id : 4554 Question Type: MCQ

Argular momenturm quantization 15 directly established by -

Options:

1. Stern-Gerlach experiment

2. Franck-Hertz experiment

3. Photo-electric effect

4. Dawlssor —GEerTier experirmnert

Question id : 4555 Question Type: MCQ

The number of crystallographically equivalent planes in the {110} family of a cubic crystal systerm is:

Options:

1.4
2B
Z B
4. 12

Question id : 4556 Question Type: MCQ

The concentration of Schottly imperfections 1 in an ionic solid at a certain temperature T is given by:

Options:

1M EXI:JI{—EIJJ'I{T]I




2 M e;cp(Ep,fij
> M e:x:pI{—EpJ'EkT]l
4 M e:x:p(Ep,l'EkT]I

Question id : 4557 Question Type: MCQ

The natural cut off frequency w,, for a one dimensional periodic lattice with force constant K and mass M is
given by

Options:

1. (4K W)
2 (4MTE)

2. (4K e

4. (4M Ky

Question id : 4558 Question Type: MCQ

& crystal is subjected to a monochromatic ¥-ray bearr, the first order diffraction is obtained at an angle of
15° If the same ¥-ray beam is used, what is the angle corresponding to the third order diffraction:

Options:

1.(157)
Z.217
20517
4 (E17)

Question id : 4559 Question Type: MCQ

The lowest energy of an electron confined to move in a one dimensional potential well of length 0.75 A is:

Options:

1. 150.7eV
2 250.7eV
3. 350.7eV
4. 45078V

Question id : 4560 Question Type: MCQ

The pOtEﬂtial of an electron in a one dirmensional Arrangerrnent of atorms is identical to that used in the K.I'Oﬂig—
Periney rmodel. [f Vo< < h% {4, the energy band gap at k= is

Options:

1. 2V b/
2. 2V /b
3. Vob/20
4. Vo[ 2b

Question id : 4561 Question Type: MCQ

The susceptibility of a piece of ferric oxide is 1.5%107>. I the material is subjectad to a magnetic field of 10°
A& jrm, the flux density in the material is:

Options:

1. 02537
2 1.259T
3. 225397




4. 22537

Question id : 4562 Question Type: MCQ

NaCl has for lattice with a=5.634, the spacing of {100} planes is-

Options:

1.282 A
2. 564 A
3 1.41 A
4 4234

Question id : 4563 Question Type: MCQ

How many atoms per unit cell are in foo structure ?

Options:

1.1
22
304
4 B

Question id : 4564 Question Type: MCQ

The one which is not compatible with crystal syrometry is-

Options:

1. One-fold syrmmetry
2. Three-fold syrmmetry
2. Five-fold syrmmetry
4. Six-fold symmetry

Question id : 4565 Question Type: MCQ

The class having the highest possible syrmmetry for a systern is called-

Options:

1. Hermihedral
2. Tetrahedral
= Holohedral
4. Dihedral

Question id : 4566 Question Type: MCQ

The co-ordination number in case of FCC is-

Options:

1. 1%
2.8
3B
4.4

Question id : 4567 Question Type: MCQ

The nature of bonding for a crystal with alternate and evenly spaced positive and negative i0ns is-

Options:

1. Ionic

2. Covalernt
=, Metallic
4. Dipole




Question id : 4568 Question Type: MCQ

Foint defect in a crystal constitutes of -

Options:

1. Cmly vacancies in lattice sites

2. Wacancies and impurity atorms

2. Vacancies, irmpurity atoms and interstitials
4. Impurity atoms and interstitials

Question id : 4569 Question Type: MCQ

For a conventional superconductor, which of the following statement is NOT true ?

Options:

1. Specific heat is discontinuous at transition ternperature T
2. The resistivity falls sharply at T
3. It i5 diarnagnetic below T -

4. It 15 paramagnetic below T -

Question id : 4570 Question Type: MCQ

The termperature at which a conductor becormnes a superconductor 15 called -

Options:

1. Superconducting temperatures
2. Curie ternperature

2. Onne's termperature

4. Transition ternperaturs

Question id : 4571 Question Type: MCQ

Innan BE-2R ladder D& corverter, the inpuat resistance is-

Options:

1. Mot same for all digital inputs
2. R for each input

2. 2R for each input

4. 2R for each input

Question id : 4572 Question Type: MCQ

Point defects in crystals cannot be produced by-

Options:

1. Elastic deformation

2. Quenching from high temperatures
2. Plastic deformation

4. Irradiation with X-rays

Question id : 4573 Question Type: MCQ

In the original BCS model of superconductivity the dependence of T~ on isotope mass is-

Options:

1 Tooc M
2 Te o M

3. T ec MTH?




4 Tp e MM

Question id : 4574 Question Type: MCQ

An electron beam of 4 keV is diffracted through Eragg’s angle of 16" for the first maxima. 1 the erergy is
increased to 16 ke, the corresponding Bragg's angle of diffraction will nearly be-

Options:

1. 4°
> g
3. 127
4 18°

Question id : 4575 Question Type: MCQ

The Varn der Waal crystal is-

Options:

1. Copper
2. Argon

3 e

4. Eock salt

Question id : 4576 Question Type: MCQ

In a ferromagnetic material, as the applied field is gradually reduced to zero, the polarization still left is knowr
A5-

Options:

1. Coercive polarization
2. Remarnent polarization
3. Zero polarization

4. Positive polarization

Question id : 4577 Question Type: MCQ

For a type 1 semiconductor, the surface energy is-

Options:

1. Always positive

2. Always rnegative

2. Sormetimes positive and sometimes negative
4. Depends on its T

Question id : 4578 Question Type: MCQ

The potential energy of a diatornic maolecule in terms of interatomic distance B is given by

UR) = -4/R™ + B/RY

where &, B, mand n are constant characteristic for the M¥-molecules. The equilibrium separation RE 15
obtained as;

Options:

1. (nd ey

o, i e

2. mB ()




4. (AR iyt

Question id : 4579 Question Type: MCQ

& nucleus of medium mass with excess of neutrons may decay with the emission of

Options:

1. Neutrons
2. Protons

2. Electrons
4. Positrons

Question id : 4580 Question Type: MCQ

In the sermi-empirical forrmulae the observed parity of odd Z and odd N nuclei
In nature is taken care of by the

Options:

1. Surface energy term

2. Coloumbs energy term
= Delta Term

4. Asyrmmetry term

Question id : 4581 Question Type: MCQ

The binding energy per nuclecn of helinm nucleus is 7 MeV and that of Deutron Is 1 MeV. Then

Options:

1. Helinm naclens 1s more stable
Z. Deutron nucleus is more stakle
2. Both are less stable

4. Both are equally stable

Question id : 4582 Question Type: MCQ

The ratio of the mass defect of the nucleus to its mass number is maxirmnum ameong following nuclei is

Options:

11

> gi %
3. Fe 0

4 17 9%

Question id : 4583 Question Type: MCQ

Muclear forces are

Options:

1. Spin dependent and have 1o non-central part
2. Spin dependent and have a non-central part

=, Spin independent and hawve no non-central part
4 Spin independent and have a non-central part

Question id : 4584 Question Type: MCQ

An admissible potential between the proton and the neuatron in a deuteron is

Options:

1. Coloumb
Z. Harmonic oscillator




2. Finite square well
4. Infinite square well

Question id : 4585 Question Type: MCQ

The ground state of the deuteron is a

Options:

1. Pure s state

2. Pure ZF1 state
3. Mixture of s, and 3, states

4. Mixture of %, and *p, states

Question id : 4586 Question Type: MCQ

The angular momentum and parity of 7o, nucleus, according to the nuclear

Shell model (including spin-orbit coupling) is

Options:

1.0t

z 17)2
2.3 (2
4.5% 2

Question id : 4587 Question Type: MCQ

Parity non-conservation was established in B-decay when it was observed

That from polarized *%co nucle

Options:

1. Electrons were ernitted equally in all directions

2. More electrons were emitted in direction opposite to that of magnetic field
2. More electrons were emitted perpendicular to the direction of magnetic field
4. Electrorns were 1ot ernitted in any direction

Question id : 4588 Question Type: MCQ

The probahbility of leakage of an «-particle of energy & MeV through a potential

Earrier of height 10 MeV and width 10 -*% m

27

(Givern h = 1.05x 10~ | mass of x-particle = 6.4x 10 "~ Kg )

Options:

1.1.7%10 2

> 17x%10 ¥

3 17x10 0

4 17x10 12

Question id : 4589 Question Type: MCQ

The evidence for the non-conservation of parity in fB-decay has been obtained from the observation that the
f-intensity

Options:

1. Antiparallel to the nuclear spin directions is same as that along the nuclear spin directions




2. Antiparallel to the nuclear spin directions is not the same as that along the nuclear spin directions
2. Shows a continuous distribution as a function of momentuam
4. Is independent of nuclear spin direction

Question id : 4590 Question Type: MCQ

The half life of one of the atoms of a radicactive sample is

Options:

1. exp( -A/2)
2 In 2 A

2 In A2

4. w2

Question id : 4591 Question Type: MCQ

When a garmora ray is scattered by an electron at rest, it is observed that

Options:

1. The wawvelength of scattered rays is less than original rays

2. The wawvelength of scattered rays is greater than the original rays

2. The wavelength of scattered rays cannot be smaller than the de-Eroglie Wawvelength of electron

4. The wavelength of scattered rays is greater than original rays and depends on the angle of scattering

Question id : 4592 Question Type: MCQ

f-particle spectrum is found to be continuous upto a Certain maxirmum because

Options:

1. B-particle is emitted with continuous energy
2. B-particle carries only a part of the energy leaving the nucleus in an excited state
2. With B-particle another charged particle is ermitted

4. With B—particle a chargeless particle is also emitted so that the momenturn and energy is distributed among
these particles and the recoiling nucleus

Question id : 4593 Question Type: MCQ

Fast neutrons may be easily slowed dowrnl by

Options:

1. Passing thermn through a substance rich in hydrogen
2. Using shield of lead

3. Diffraction through a slit

4 MNone of these

Question id : 4594 Question Type: MCQ

The theory governing combinations of quarks based on quantum electrodynarmics is called

Options:

1. Baryon Theory

2. Cnantum chromod yrianucs
=, Meson theory

4. Lepton theory

Question id : 4595 Question Type: MCQ

In a synchrotron, the magnetic field must change to compensate for

Options:

1. Loss of energy due to air resistance
2. Eelativistic 1Tass increase




2. Increase in the radius of the circular path
4. heating of the coils

Question id : 4596 Question Type: MCQ

The method of carbon dating works because

Options:

1. ¢ ¥ has higher atomic weight than C *°
z. CM 15 A stable 15otope
3. CM content of the dead body increases with time because of cosmic ray bormbardment

4 < %3 a stable isotope

Question id : 4597 Question Type: MCQ

which of the following nuclear reactions is possible

Options:

1M~ Beog+pt +v,
2V, — Bog+ ptorve

51y, L Mo, gt

a i, — Peoo+ gt e,

Question id : 4598 Question Type: MCQ

A stationary particle in free space is observed to spontaneously decay into two photons

Options:

1. The particle carries electric charge

2. The spin of the particle must be greater than or equal to 2

2. The particle is a boson

4. The mass of the particle must be greater than or equal to the mass of the hydrogen atom

Question id : 4599 Question Type: MCQ

which of the following functions describes the nature of the interaction potential Vir) between two quarks
inside a nucleon ? 1 is the distance between the quarks and a and b are positive constants of suitable
dimensions)

Options:

1.V =alr+br
2. W =-alr+br
2% =alr-br
4 %1 = —ajr -br

Question id : 4600 Question Type: MCQ

The rminirmum number of FLIP-FLOPS required for a synchronous decade counter is-

Options:

1.1
22
=04
4. 10

Question id : 4601 Question Type: MCQ




which of the following decay is forbidden

Options:

1*u‘—:».'s‘+1,.'1u+uEr

_I_I_+ b y+ 4 U“

Z

T — e + U
=

U — e + e+ e
4

Question id : 4602 Question Type: MCQ

N —p+TT

The process 15

Options:

1. Weal: and strarngeness non-Cconservirng
2. Strong and strarngensess non-Cconservirg

=, Electromagnetic and strangeness 1on-Cconserving
4. Strong and Strarngensess Ccornserving




